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Column-I Column-II () = 2 Ar—jans) ABLES ora

A fx)=x2— 1. strictlydecreasingin (1, 2
2x+51s (—o0,—1)and strictly itmyz 6w -18M—12
increasing in (—1,—o0).
B. {{x)=10- 2. strictly increasing in
6x —2x? 1S (—0,-9/2)and strictly
‘ decreasing in . . o
9 E x+1)° 5. strictly increasing in
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A circular disc of radius 3 cm 1s being
heated.Due to expansion, 1ts radius

increases at the rate of 0.05 cm/s. The
rate,at which its area 1s increasing when | Vp A
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its radius 1s 3.2 cm, 1s —
WO mem?/s (b) 0.160 mem?/s
(c) 0.260 mem?/s (d) 1.2 mem?/s
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A (x) = cosx, g(x) = cos 2x, h(x) = cos3x and
~1(x) =tanx, then which of the following
option 1s correct?
(a)A(x) and g(x) are strictly decreasing in
(0, /2)
__@a/h(x) 1s neither mcreasing nor
decreasmg 1 (0, 7'[/2)
I X) 1s strictly increasing n (0, :rt/2)

All are correct
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